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1) Consider the following statements Wwith 1. S @

reference to Uttar Pradesh — 3 f% STATT 12.8%
(1) Forests constitute about 12.8% of the total (1) '\’T\"q @ ?b'a o -

geographical area of the state. ba a7 2
’(})/Thedlstrlctsofj_muhi_i——wuﬂl- ST Waﬁ—\rmﬁa‘rﬁaﬁs‘ﬂ
have no forest land. e (2)
Select the correct answer from the code given ’iﬁ SE
below — 29 Ry Y B | FEl IR 2 (N
Code - ‘ : ' 4 Hhe —
/(a) Only 2 (b) Neither 1 nor 2 (ap B 3 (b);::r 1 -‘-IT Bl 2
: O BgA 1 d f 194 2
#S Only1 (d) Both 1 and 2 . () : 1 S 'E'r(éﬁﬁ 5 ot fr —
2-_ Non-conventional energy sources. are those 2 IR—IRIRS EGIi ’
energy sources, that are - ' (a) faggaeifid (4 (b) TN &
. (@ Produced from /),Renewable ‘ 7 ’ - -
electricity (©) Radeeia g @ ST

(¢) Non-renewabl le ( ) Produced from heat | : u 5
Who among the foIIowmg translated 300 3 _, fr=iferfad # -\ﬁ'ﬁa fosIsT W L H__I Ic
st @ SRM Gofed 300 WP JEAPT B

volumes of Sanskrit books collected by Firoz

Tuglaq during the campaign of Nagarkot? ' AT e -
(a) Mulla AbduI‘Baqi (:) Azi.zuddin' l.(han‘ - () oot orget aA - (b) FAGE @
9xl_rza Muhammad (d) Tgllb Amuli ©) Rt e eﬂtsﬁ (d) iR 5
i 1
' What is the theme of the Internatlonal Day for ~ 4 . 2022-23 % ﬁcﬂ’ ililél Sy Skl Ef? forg 31?!?‘?‘?5]’&
the Eradication of Poverty for 2022-23? feaw &1 favg @ &7
(a) “Coming together to end poverty and : (a) TR IR AT AT B B T TP qrex
- discrimination.” - 4 ¥ | 3T [
_(b) “Acting together to empower children, their (b) “TIelY T W & foy g=ai, S qﬁa‘r@[
families and communities to end poverty.” . AN e B W N B g T wwe
“ : ‘ : v PTH BT |
(c) “Accelerating global actions for a world \
without poverty.” _ | (c) * "q'@:l & fo=r gforan Eﬁ afRa®m ?rﬂ?ﬁ # aoft
(d) “Dignity for all i tice.” : ) e . g
ignity for all in practice. d ¥ w3 frg l
5. Which of the followmg |s/are the type/s of - 5 f=forRag. -\e{ BT/ Pl @1 /%
poverty? 3 /_g? : HPR
1) Absolute povert ' . ) Fref
:2; Relative p?)c\’/\;ityy; v (1)’113# (qvq)
(3) Subjective poverty _ (2) Wt fefsren |
(4) Functional poverty (3) AfdToRe fefrar
l:C,hloose the correct answer using the code given (4) yPrITHS fFefar F -
sl T Re 17 3z & & s 31 ghg —
/(f:)) Only 1and 2 - (b) Only 1 and 4 - (a) ®aer 1 @ik 2 (b) BaeT 1 Td 4
%) Only 3 and 4 () Only1,2and 3 (© DIt 3 TG4 (d) DI 1, 2 Tq 3
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6.

7.

8.
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Role of Human Resources in
development, which of the
statement/s is/are correct?

1. Effects of economic development on
’—\———\_‘-_
population growth. X

following

ffects of population growth in economic -

dfevelopment

Select the correct answer using the code given
below —

Code - ,

(a) Only 1 (b) Neither 1 nor 2

(c) Bothland 2 jd) Only2

Consider the following events and arrange these
in correct chronological order starting f‘rom the
earliest to the last activity — A
(1) Appointment of the Drafting Committee

(1) Indian Constitution was adbpted and enacted

(III)' Date of - commencement of Indian
Constitution 24 - 1age.
(IV) Constitution Assembly first met & * 1qy6:

Select the correct answer from the code given

below — : :

Code - ¥y 4 -
@1, 1,1v, 1 P ORYARIRIL

© Iv, 1,1, 1 @), 1, v

Match list-] with list-Il and select the correct
} .

answer using code glven below —.

List - | Llst I
(Diseases) 4 (Factors)
(A) Peptic ulcers (1) Virus
(B) Dengue ~1 - (2) ‘Protozcl)a '
" (C) Elephant Foot—& (3) Worm

(D) Malaria ~

Code - |

(a) A-(4), B-(2), C-(3),. D(l)
—b) A-(4), B-(1), C-(3), D-(2)

(©) A-(2), B-(3), C-(4), D-(1)

(d) A-(3), B-(4), C-(2), D-(1)

(4) Bacteria

Economic

v (© IV, 1, 11, 1

u | ﬁ]BYffﬁm |

6. aifofes fawrer AT W B1 Anrar o e

4, ﬁw%rf@ﬂzﬁuﬂ‘rftﬁa%HW/ﬁmg/g?
1311T§?ﬁﬁlfﬁm$rﬁl:lﬂ@rqﬁgwm|
2.mﬂﬂwqﬁgfﬁram§-csﬁmwm|
L B c S p——
RN | |

TE -

(a) ®aa 1 b)Far1ma 2
(©) g 1 3R 2 d) dael 2

7. FrefaRad gl w AR B o 5

PIATTHH § AR B, TR T8l A R

Ay SRy rfafafer T —
o () s wfafy @ e
g (Il) MR e a#r itfipa ok arffafia

(1) Iefra wfder & gga B @ ffd
(IV) Efeems 97 &1 g 9@ "
:ﬁﬁﬁqwaﬁﬁﬂé’rwmwaﬁm—

e

@ 1,1, |v~, Il (b)-1v, 1, ;1

: (d)' i, 1,1, v

G BT G R BT e R |

BT — :
T - X -
(cnf®) (@RD)
(A) ftes go7 (1) famror
(B)ST (2) HISISHa |
(C) it - (3) P
(D) FeiRar (4) farsTog
e - A

(@) A-(4), B-(2), ¢-(3), D- (1)
(b) A-(4), B-(1), C-(3), D-(2)

- (©) A-(2), B-(3), C-(4), D-(1)

(d) A-(3), B-(4), C-(2), D-(1)
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9.
’ Match list-l with list-ll and select the correct

answer using the code given below the lists -
List -1
Book .
(A) Mirat-e-Sikandari
(B) Burhan-e-Masir
(C) Riyaz-us-Salatin
(D) Riyaz-ul-Insha -
List -1l
Context
(1) History of Bengal ‘
(2) History of Bahmani’s Ahmad Nagar
(3) Collection of Mahmood Gawan'’s letters

(4) Victory of Gujarat
Code -

Ta) A-(4), B-(2), c-(1) D-(3)
(®) A-(2), B-(4), c-(1), D-(3)
(©) A1), B-(2), C-(4), D-(3)

d) A-(4), B-(2), C-(3), D-(1)
10.

10.

a1 ¢

m BYJU'S

| B G-Il gafera PIRTT qer
gﬁﬁmm@%wt«sﬂv@ﬁ?—

¥ - |

. QEI®
(A) fﬁw—q—iﬁﬁmﬂ?’f
(B) gRETT—T—
(C) Raro—sa—efrcr
(D) RaTg—Sei—gam
G
fawa
(1) §TTeT T SforE™
(2) 989 B SEHSTR &I sfsrd
(3) & AT & YA BT HIT
(4) oI fasra - .
m A1 . \
a) A-(4), B- (2) C-(1), D-(3) |
(b) A<(2),B-(4), C-(1),D-(3) |
(¢) A-(1), B-(2), C-(4), D-(3)
(d) A-(4), B-(2), C-(3), D-(1)

R

Given below are two statements, one is labelled RIERCEE AR LA | \’Hﬁiﬁt’ﬂ (A)
as Assertion (A) and other as Reason (R) - .. 3ﬁ‘\r {\,ﬁ ?ﬁ‘r W (R) T T & — _
Assertion (A) - Populatlon control is necessary to are
maintain’ the environment of the iﬂﬁmﬁ (A) S T AR B SR G $
country. : foy ST T srqvas gl
Reason (R) - Due to the rapid increase in W (R) GFF\H@T ¥ g ?{ﬁ&' & BROT qafR
population, the environmental -
balance is maintained. » W I T I |
Select the correct answer using the code given e R W g ¥ W s g —
below — : Te — ' ' ‘
Socte:- (a) (A)ﬁaﬁ g ﬁbT\:[ (R) & & f
(@) (A)is false but (R) is true . |
D) (A) is true but (R) is false ) (A)wE g ﬁﬁ (R) TerdT
| - . (C)(A)Gﬁ‘\’(R)ﬁW%aﬁ'\’(R) (A)Wﬁ‘T
(c) Both (A) and (R) are true and (R) is correct |
_ explanation of (A) mwﬁéﬁ W 5 ﬁﬁ (), () & aﬁ
(d) Both (A) and (R) are true but (R) is rjot correct T 78 et
explanation of (A) S0
@Whlch among the: following organlsatlons was 1. o f{ A P G foetl A Eﬂﬂ"m:
2 responsible for throwing a bomb at Viceroy Lord S TRT W) g9 Wﬁ & I%N ET-R’ET&?T o’
* Hardinge in Delhi? .
(@) All India Labour  ®(b) Yugantar (@) Cﬂfﬁ'ﬂ’ W W (b) gerter
* Association - .
(¢) United Patriotic ~ (d) Anushilan Samiti (©) T"gé@ W
Association = ‘
| Pagedof32 ||||IIlII|III||lI|II||II|I|||I|III|IIH|
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12. Whoamong the following has been named as the
me Minister of New Zealand in January, 20237

(b) Cindy Kiro

(d) Jacinda Ardern

Pri
(a) carmel Sepuloni

Ac) Chris Hipkins

13. Which of the following pairs (School of Thought -

proponent) is correctly matched?
(b) Uttara Mimansa -
Kapila

(a) Varsheshlka =
patanjali
(c) Mimansa —Kanada (d) Nyaya - Gautama

When was the Census work done for first time in

India? ,
4a) Inthe year 1871 () In the year 1861
(c) In the year 1850 (d) In the year 1881

15. With reference to the scheme wise allc‘cariOn in

the 2023-24 Union Budget, which of the

following statement/s is/are correct?.
W :
(1) . Compared to the previous year, highest

4

percentage of decline has been recorded in

‘the allocation for MGNREGA e

(2) Compared to the previous . year,
percentage of growth has been recorded in

the allocation for Jal Jeevan Mission. X

Select the correct answer usmg the code-given .

below —

Code- _ '

(@) Neither 1 nor 2 (b) Both 1 and2
&9 only2 A9 Only 1

ggest helicopter

16. In February, 2023 India’s bi
urated in which

highest:

12,

13.

14.

15.

: (Z)ﬁzréraq‘zﬁrgamﬁ

—BWu's

FreTfifRen % et ), 2023 ¥ IS @
WA B Wy ¥ g7 T 7

(8) BT Agary () RS T
(c) b fRufera (d) SHRieT 3
Prfofee # @ #f @ g @ -
wE gAafer 87

(d) &7 — Geffer  (b) TR A it
¢) Hrir — Eb'ua( pe7g) (d) =grd — T
wvﬁwmmmﬂﬁmaﬁaﬁmw
or? -

() af 1871 _(b)aé1861ﬁ

() 7 1850 7 (d) af 18814

< qoT 2023-24 % AR & FFAR AT
& w4 fre gt § @ @A W/
w2/ |
(1)Wﬁﬁwﬁmé§mﬁ

i gfrerd wedY qof @ T &
St offa e &g

oy oot @ T

PEIRED)

mﬁﬁnﬁ@?ﬁuﬁ?ﬁ

t 18
ﬂ%ﬁﬁ@mmqﬁwmﬁﬁwm

.'au#aﬁﬁm—

16.

a):rr_ﬁﬁr‘aﬁz- (b) T 1 iR 2
c) dael 2 . (d dae 1

Fead), zozsﬁw%ma@*%ﬁﬁmﬁw
< 1 e P 3 e e

manufacturing plant Was inaug §3n i
- one of the following places’ :
(@) Nasik, Maharashtra (b) Chakeri, uttar UGS BT (b). Wﬁ Riekd m
‘ : pradesh "
c
© Coimbatore, Tamil & Tumkuru, Karnataka a?m?@'\' aﬁwn'g )
Nadu | 17, _
@Wh'Ch of the following (Poetessﬂcomposmon” e Y g—;% BN (Fafeh — E!Fla?) |
is not correctly matched _ sakal ) ! ‘ ~
(@) p ~ (b) Sahajobai ~>2 SUIETE — famy b w _
, Maye Bai — Vinay - rakash W (b) WEETE — Hawt
. Gallka , b (d) son Kumari Poem () W _ e U \
- s o9
D::i:; Gane>™ " of swarn B Bell ‘ GG (@ A FA — ol
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18. All elections to the Panchayats are conducted

by ) * ‘-

(a) Election Commission (b) Panchayati Raj
of India Commission

o) State Election (d) State Legislature
Commission

19. With reference to the recommendations of the

Ashok Mehta Committee (1977) on Panchayati

Raj, which of the following stat'ement/s is/are

correct?

(1) The three tier system of Panchayatl Raj should
be replaced by the two tier system. v

(2) A block should be the first point for

- decentralization under popular supervision
below the state level. » '

Select the correct answer using the’ code given

below —

Code - ‘_ ;

(@) Both1and 2 AD) Only1
(©) Neither 1 nor 2 (' ) Only 2

20. Which of the following cities of Uttar Pradesh is

notincluded as the venue for 11 meetings of 200
sessions of G-20 during India’s Pre5|dency of the
grouping? : :

(@) Agra

(©) Varanasi

,éb) Kanpur 4
(d) Greater Noida

‘ - \Charak Samhita is divided into how many-

chapters and sections?

)a) 120 chaptersand  (b) 80 chapters and

8 sections 7 sections _
(¢) 100 chaptersand  (d) 60 chapters and
5 sections 8 sections '
22.. Human heart is made up of how many chambers? :
A4a) Only four (b) Only one
(€) Only three (d) Only two

How many railways stations have been identified
for modernization under “Amrit Bharat Station

Scheme” in Uttar Pradesh as on February, 2023?"

—a) 57
(c) 82

(b) 149
(@ 123

24 Which of the following is' mRNA vaccine used

against Covid-19 infection?
_8) Moderna
(c) Sputnik

(b) Sinovac
(d) Novavax

| www.BwusexamDreD.com m

18. et o W A P wererT P € -

(@ e o1 frafe (6) e <t ST
e

(c) Yo fAat=e RN (d) Iy =T

19, gorrd) <o WX 3T HedT AfAf ufae (1977)

# A B a2 /E | |

(1) TETERD I B A T aRe & R W

fawda sraven gF) @1fRy |

(2) v wR & AW wdeE© gg @S @
ﬁﬁwmu&wﬁgwmﬂﬁm

A= oy T B F W SR BT g9 P —

@< -
'a)a‘m‘fmenzl
c)Far 14T & 2

' (b) BT 1
d) dael 2

R R o M gr g N —

ART P AT B IRM G-20D 200 THF F |

11 951 & fog i @ ©9 § it T8 22

(@) 3R (b) PR

(c) ATy CREE -
?1e e e o s o st e 87

()12031wm3ﬁ-\r8@3(b) 80 3T 3R 7 G

L ()IOOWGﬁ?SEE(d)GOWSﬁ'\TSEE

22--Wmﬁﬁﬁﬁwﬁ(u€ﬁ)wwm%?
(a) BaeT IR b) BT TH
- (©) B fe (d Had QY
23. PR, zozawwmﬁ“

R B g @S 27
(@) 57 (b) 149
(c) 82 ¢ o0 (d) 123

24. ﬁwﬁﬁaﬁﬁaﬁwmmkm?}wﬁ% ﬁﬂﬁm
mﬁvﬁfﬁsww%ﬁwmmﬁ?
(a) Hiex=T (b) R
(c) wyefre (d) Frardes

[B-1-23] 153101
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In 1918, the Unitéd Provinces Kisan Sabha was
formed by which of the following leaders?
(a) Indra Narayan (b) Swami Sahjanand

Dwivedi Saraswati %%

(c) Pt. Jawaharlal Nehru (@ Baba Ramchandra
! ,

25.

26. Which officer was known as ‘Bhagadugha’ during

Vedic administration?

(a) Chief Officer of
Forests

(c) Messenger

(Q)) Revenue Collector

" (d) Chief Officer of the
' Gambling
Department

27. Match list-l with list-ll and select the correct .

answer using the code given below the lists =
List - | : '

(A) Article — 324

(8) Article 315 = >

(C) Article —280 ~ %

(D) Article —338 — \

List- 1l
" (1) National Commission for Schedule Castes

(2) Finance Commission
(3) Public Service Commission
(4) Election CommisSion '
Code - _
(@ A-3), B-(2), C-(1), D-(4) .. ...
(b) A-(1), B-(3), C-(4), D-(2) .
(©) A-(3), B-(2), C-(4), D-(1)
A9 A-(4), B-(3), C-(2), D- (1)
28. Which statement is + is true for Finance Sector ( Fiscal
Management) in the Union Budget-2023?
(a) Twenty years interest free loans to states
(b) Budget estimates = 2023-24 for total
expenditure is T 55 lakh Cr. >
(c) Fiscal Deficit 2025-26 the target is to be
below 5.5%.

25.

26.

' 2.

28.

9 Fiscal Deficit of 3.5% of GSDP allowed for
states.
29. ‘Milind Panho’ is in the form of a dialogue 29
between King Milind and Buddhist Saint. The
+ - concerned saint was 7.
(@) Nagbhatt (b) Kumaril Bhatt
C) Nagasena (d) Nagarjun
[B-1-23] 153101 Page 7 of 32
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1918$vgaamaﬁm=fwwrn'cﬂﬁﬂﬁ
A g war 3 far oar?
(8) g5 TR I A (b) T FEATT
ey
(C)d.mamm(d)wwm%
N .

Mo Bl g ¥ AFIgE B BRI A7

(@) STt BT JET (b) TG DY AT B
CIBCaN| . aqrell

(0) AR UgA dre (d) Serm T T FEr
T | Y
—laﬁwﬂ—n-\#gﬁrﬁmaﬂmwwa}

;ﬁﬁﬁqwmﬁﬂﬁwaﬁfﬁv—
T — .

~ (A)aﬂ'fé?{— 324

(B) 3TgTE — 315

(C) T — 280

(D) IgWT — 338
g4 — Il

.(1)@?1313?1%3611%31@?

(z)ﬁﬁarrah

(3)<—~ha$,®msrm

(4) Fater smamT

R_

(@ A(3), B-(2), c(1),D-(4)

(b) A-(1), B-(3), C- (4), D-(2)

‘ (c) A-(3), B-(2), C-(4), D-(1)

d) A-(4), B-(3), C-(2), D-(1)
#sﬁu gole—2023 ¥ foxia &= o (ﬂmaﬁﬂ‘m

ygwr) @ Y BN 61 9 |E ©?

(a) 3Todt BT N 99 & foQ @S gaw o)

(b) 2023-24 & TSI ¥ w5
) ST @ 55 @

(¢) 2025-26 % forg ST TR ¢
ol aﬁssmﬁ#ﬁ

© RIFAH, FT 3.5% oM T

fifere Ty Wﬁ%ﬁmwmﬁgja;
T WA 9K ¥ | 7w g of — |

] (b) et g
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30.} Who among the following has authored the book ~ 30- f=faiRaa # & frem "R qeas fordl &

“Spare”? (a) fpT =medd (b) e faferawa ‘
a) King Charles (b) Prince Williams . _ _
/EC) Prir?ce Harry * (d) Prince Phillip (c) fire &4 @ fofe fopfer
31. Given below are two statements, one is labelled 31 1 @ ®em &, R A @ &1 JAABAT (A) |
as Assertion (A) and other as Reason (R):’ 3R TR BT BRI (R) HET TAT 2l . 1
Assertion (A) -12 Cheetahs arrived from South . s (A) - BRaQ, 2023 ¥ 12 =l BT MRy ;
‘ Africa to India in February, 2023, IfheT | WRA AT AT B |

Reason (R) - Restoring Chéetah population is HROT (R) - i} BT TS BT GEIRAT AR A
‘considered to be a priority for India. ' _

' , weIfAEdT 31 |
Select the correct answer using the code given ?ﬁ%{ Y T oe I & SR BT 9T aﬁﬁfq —
below —
Code - w R | L
~(a) (A) is true but (R) is false . . l[:v (@) (A) e & f=g (R) T & . |
(b) (A) is false but (R) is true : % (b) (A) Tt & ﬁﬁ (R):‘q__q g |
_A©) Both (A) and (R) are true and (R) is correctgt (©) (A) $IR (R) THT & T IR (R), (A) &1 %=
explanation of (A) . AT DXl ® _
(d) Both (A) and (R) are true but (R) is not correct d) (A) 3ﬁ_‘r (R). ¥ § f5g (R), (A) BT wE e
explanation of (A) - . ' ?I‘z?f BT B
32. With reference to the Deakin University, which of, 32. ifepe ﬁ?ﬂﬁﬁl’&lﬁ P g<d ¥, ﬁl‘:ﬂ%ﬁ@ﬁ DL
the following statement/s is/are correct? ﬁ I 9 B9 | /-\Ef e B /8
1. It will be the first Foreign University to entem  1.9% U Wad URER B 7Rgq § aRg S gﬁ-ﬂ
India as an independent campus. . ﬁ;:) frvafeTey
2.Itisbeing set up in Maharashtra..g =~ . 2?;2;? ﬁéﬁﬁﬁ R o <&T zll
Select the correct answer using the code given
below=— -z o }ﬁ%ﬁﬁ@wwuﬁvmﬂﬁwgﬁﬁ—
Code - A : RE =
—1@) Only 1 (b) Neither 1 nor 2 F@. (a) Baa 1 ®) Far 191 & 2
© Bothland2 (4 Only2 RO B P (@) Bae 2 : ;
33. With reference to India’s G-20 Logo, which of th% B ARG B 6-20 Ufiw g 3w ¥, frfafad
following statement/s is/arecorrect? _ - W B |/ V-t \
1. The logo has lotus with seven petals. 1.0 fore % UGl Aol ey 2 }
2. The seven petals of the logo represent seven 2.y e &Y IG] qigﬁe,m A A=E & |
continents. EINIBIER| BT B | »
Select the correct answer using the code glverF e A T B B T e el SR BT o9
below - - ‘
Code - : %} ?_ i .
(@) Only 2 _Ab) Both 1 and 2 Y @ g2 (o) B 1 wd 2
. (©) Only 1 (d) Neither 1 nor 2 () Bt 1 :

aariar€2

34. Who among the followmg is the fll’St women 34 W B g ‘T%FIT W B § 3 g ¥
Speaker in Lok Sabha?

|

|

|

~—& Meira Kumar (b) Urmila Singh (a) AT HAR (b) I Ryg ‘
(c) Sushma Swaraj (d) Pratibha Patil (©) g1 @RS (d) wRRT rfee \
|

23 101 L R T



www.byjusexamprep.com

@Accordlng to Economic Survey 2023 about 35 arail @ gR ¥ anfdiw wderor 2023 #, fFefafEd

.services, which statement among the following is
not correct?

a) Credit growth to services is above 16% sincef.
é‘ July, 2022. ?;
/" (b) 75 digital banking units announced for'c-‘;;
7 transforming financial services. ~ E*"

iy

ﬁc) P.M.l. services witnessed strongest expansion

36. true?
Which of the following statement | is tr ? f
(8) Ocean salinity is maximum at the ropic 0

Cancer and Capricorn. X
(b) If the sun, the earth and the

straight line then this sntuatlc‘gq{/he situation
' A

moon are in a

of small tide. »o
(c) Benguela current is a cold current of the
. X

Mde comes on the earth _every day after
exactly 12 hours 30 minutes.
Who authored the book “The Challenge of World
Poverty”?
e (3) Jean Dreze
© Gunnar Myrdal

(b) Amartya Sen
(d) Adam Smith »

C“"

since July, 2022.
g)/Fashion, grocery and general merchandise
will be captured nearly two-third of the Indian
e-commerce market by 2030. ﬁ:”
36. Consider. the reign of following Peshwas an - 36.
arrange them in chronological order - gﬁz
(1) Balaji Viswanath ' -
(1) Bajirao | S
_ (1) Narayan Rao
(IV) Madhav Rao | A
Select the correct answer usmg the code glvenm
below — , . k-
Code- . ' ' o4
A8 1, 11,1V, 11 (b) 1, 10, 11, IV @
©u,1,1v, @ 10N "4
37. Which one of the following is the largest coal 37.
/"""5
producing centre of Ukraine? ' H
(a) Kharkiv s (b) Zaporlzhzhla - fon
‘}C) Donetsk (d) Kyiv gé: -

39,

ol ¥ @ Y 1 e W A 27

(a)qms‘zoéiﬁzﬁ%amvﬁw 16% A HW
gl
b) 75 fefires SRy gl @1 Eon faRiE

, Waﬁﬁaaaﬁzﬁmaﬁﬂéél

(©) Gy owamE. et ¥ 2022 eS| HIH AL
R <@ M| |

(d) By, Ugd ok oFRe Aeerzd 2030 AP
s‘—wmﬁmzﬁmwa‘rﬁzﬁ

%ﬁﬁmw@ﬁl
ﬁﬂﬁ@ﬂﬂ?@aﬁa%wmwﬁawaﬁm
T T FTERHAER AR BT — '
(1) STeTStT fagarRr
(I1) ISR |
(111) RIS 379
(IV) Je/ R 1
ﬂ%ﬁvﬂt{aﬁﬁmﬁwqﬁn—

@e - .
@1, 1, v, ®) 1, 11, 11, IV
© 11V, 11l (d) 1, 1, 1, IV

ﬁwﬁﬁqﬁﬁmmwmmﬁ
B T 87

(a) wnfira (b) SRR
(c) SFICEh d) &a
ﬁﬁﬁf@ﬁﬁﬁzﬁﬂwmw%?

a) FENAMNG WU & Td HbR @il W
- o B R
(b) R g, ot o rve e et X € o 7
Refd g o 1 Retfr 1
(©) mmWﬁwwm%l
d)qaﬁrwuﬁﬁqmlzaésoﬁqamw
3T & |

<§§mamwmm Iw® e fode
(b) anter o
() TR ey @ v R

Page 9 of 32.
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40. With reference to the E.V. Ramaswami Nayakar, 40. &&1. xrvam) AR & Ha #, FrfeiRad wo
which of the following statement/s is/are ¥ Prar/d 9 2/

correct? (1) =1 argednT arare ¥ fawar foran
(1) He participated in thMtlon 2 ) 1925 # s ot )

Movement. »

A2) He left the congress in 1925. T Ry T H & AT IS el ST
Select the correct answer usmg\ﬁé code given _ gﬁq = ‘
2e|dOW— '@ =
ode - .
D ' b) P
) Only 1 Ab) Only 2 (@ ; ' (b) Hae 2

_ S S8 |
(©) Neither 1 nor2 (d) Both 1 and 2 . © 77 171 & 2 (@ <FT 170 2,
41. In December, 2022 New Zealand passed the 41 fa&wR, 2022 # goficie 7 aFTel G & fog

world’s first Law to ban smoking for. next ~ YEU WX YAy ST aTelt favg b7 ugelr EFFE{’
generation. New Zealand’s goal is to be “smoke- oiRa fbar| Fq\ﬁﬁ@@ (IS FE—— TH
free” by ' ' "EEAT R AT T
(@ 2025 ~b) 2029 - <7 E) 2025 SN (b) 2029
(© 2024 (d) 2030 | (©) 2024 (d) 2030
42. plane of which Airline crashed in Nepal in’ 42 SFad), 2023 ¥ fh TEReE &7 fAWE YTt H
January, 2023? FECHTIR gaiT?
(a) Tara Airline - (b) Nepal Airline ( ) ORT QIRSTeH . (b) <uTet QaRenE
_{9) Yeti Airline (@) BuddhaAirline ' (0 I TR (d) g7 TR
. What was India’s rank in the_ wgrld greenhouse ~ 43. 2022ﬁ faea & 917 erow A4 & Sl § R
gases emission in 2022? G : e e w e v . .
C@10" b j , (a) 10df () 124 '
(© 11t e gt , © a1 - . (@) gdt
44. A geographical unit that collects, stores and 44 T HMifore ISP Sl I Bl SWT H'Ri-’ﬁ g
release water is called - . HSRYT Rl & T gl Bﬁ'{-ﬁﬁ 8, 9 BEd § —
(@) Watershed (b) Wetland - - (a) ST (o) o7 yfy ‘
| ~—(€] Water reserve (d) Waste land ~ () T BT A d) ef Yy |
45. With reference to the Human Development 45. ‘Tﬁaﬁiﬁrﬂﬁché 2021- 22?5?4?'## Frafafag
Report, 2021-22, which of the following # F P P T R /&
statement is/are correct? : ' P
(1) India’s rank on the Human Development (1) e fawrer LIDID # e Eﬁ #of 2020 #
Indztz(zlzxas gp%ﬂgg from 130 in 2020 to 132 1309 I BN 2022 % 1328 E 2|
in o .
India’s rank on the Human Development (2) 3TV (AT A e 1 A 2020
* Index has stipped from 130 in 2020 to 132 in 130% 2022% 1327 iR T ¥
Selzgtthe correct answer using the code give o e s Wb o
below — N BYEn - @ -
Code - T —
(@) Bothland2  (b) Neither1 nor2 (@) M 174 2 L(b). 7 eﬁi TR 2
(c) Only1 ) ony2 (c) Bt 1 (d) e 2
[B-1-23] 153101 Page 10 of 32



www.byjusexamprep.com

Which one of the following is not.true about the
" total outlay in the Union Budget 2023-24?
(@) Interest payment.  (b) Subsidies (9%)
0%) - __
State share of taxes (d) Defence (8%)
and duties (18%)
Match list-l with list-Il and select the correct
answer using code given below the lists -
List-1 '
(Theories of Populatlon)
(A) Optimum Population Theory
(B) Social Mal-adjustment Theory
(C) Demographic Transition Theory — 4

m BYJU'S

46. Py goic 2023-24 # HA AR H PretferRa

47.

(D) Population-Food Supply Relatlonsh|p Theory._Z

List- 1l
(Propounders of Theories)
(1) Thompson '
(2) Malthus
(3) Edwin Kennan
(4) Henry George ‘ _
- Code - : .
_Aa) A-(4), B-(3), C-(1), D- (2) -
(b) A-(1), B-(2), C-(3), D-(4)
(€Y A-(3), B-(4), C-(1), D-(2)”
_(d) A-(2), B~(3), C-(4), D-(1) |
. Which of the following is an insectivorous plant?
(@) Nelumbo’ ~ _b) Nyctanthes
(¢) Nicotiana '(d) Nepenthes
9. The river situated along the border between the
United States of America and Mexico is -
(@) The Colorado - (b) The Amazon
(¢) The Mississippi ) The Rio Grande
0. Which one of the following (Passes States/U.T.)
is correctly matched?

)) Niti — Uttarakhand  (P) AghiI—Arunachal’

~ Pradesh
(©) Mana - Himachal = (d) Diphu - Ladakh

Pradesh
2. Trophic levels are formed by -
) Organisms linked in (b) Animals only
food chain
() Carnivorous animals (d) Plants only
only

(B-1-23] 153101

48.

49.

50.

51.

¥ ¥ P A BUT a"a"f 27
(a) =Tt AT (20%) b) Gfsas! (9%)

C)W@Wﬁ'\’m ) e <4 (8%)
B AT (18%)

qﬁlaﬁaﬁrllﬁgﬁ%ﬂaﬂﬁ?aﬁ?:ﬁﬁﬁ?
Y e FT FNT PR gY e SR FrT —
@l

(\-ﬁwa%ﬁlaﬁ) |

(A) Sugdd SaeEr g

(B) |TAITTD SroRTriSH RiET<t

(C) ST HehHvT RIGTT
(D)W—W@Tﬁmﬁ

g -l

(Rigidl @ afadre®)

L (1) e

ﬁ —

a) A-(4), B-(3), C-(1), D-(2)
(b) A-(1), B-(2), C-(3), D-(4)
(©) A-(3), B-(4), C-(1), D-(2) * -
_(d) A-(2), B-(3), C-(4), D-(1)

ﬁw%f@ﬁﬁﬁaﬁﬂwaﬁamﬁtﬁw%?-
(@) Hrgen (b) RN
(c) fAeifearr - (d). ferT
wwaﬁﬁmmﬁﬁmﬁzﬁ%ﬁ”ﬂ@mwv
Rerd 7 & — ' |
(a) IS (b) SIS
(c) PRy W RET IR
ﬁﬂﬁf@ﬁﬁ'\ﬁaﬁqmw(w o)
‘ , : — /B
MR Sr?) Wt g 82
a) Y — SRS (b)_m—wul‘l’ﬂ?[
(©) A — fRwrere ki
- U9 (d) S —
TS wR Y § 513
(@) e sjeger ¥ ar (o ,
@ ¥ B 9 ©) Dact srgeif @
(©) Baer Hf
' O Fer vt
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| N ;
@ Which ‘of tHe fo"owing (Union ’Budget 52. fymfefaa ﬁ B '@7 Gl EI'GE ﬁ’qm ‘
Departments 2023;24 - Allocation amount 2023-24 — aljﬂilﬁ_il ardfed Wi X) @ Tiferg
N, approx. T)is correctly matched? &7 ' ' |
@) Dept. of Health Research —Z 9,155 Crore | ‘(a) Ry I ﬁwm' — 9,155 F1$ ¥
A0) Ministry of Health X 89,155 Crore,, | .(b) Wy HATTT — 89,155 RIS T
() Dept. of Health and FamllyWeIfare -3 80,000 (c) wT*ey T tlﬁEI'R' ST HATT — 80,000 | ’
()C”’re?Q e i ok i
Pradhan Mantri Jan Arogya Yojana — < 5,000 _ ‘ \ L
: - (d) T O SIRFY ATl — 5,000 RIS 3 |
Crore N - : !
With reference to the post’s in Secretarlate ofthe 53. HHe & ARE™ ¥ yal & wew #, A & 3 1
" Parliament, which of the followmg stgtement/s ' q,‘l,m,/qé[ B & g/-g? ’]
is/are correct? |
S O ,- »(1)w$mw$vﬁmm$mt
(1) Common posts may be created for the = |
Secretariate of each House of Parlia'ment.'\y i Y . w3t w1 | ﬁ)_m Gﬂ, l
(2) The Parliament has. right to regulate the (2) WEE BT U ol A WA & wfEed
service conditions of Secretariate staff of  w% B AT ud @ AR e e
eitherHouse'.of it."; = | GT@EFR' ST 2 '
Select the correct answer from the code given
below— ) - :ﬁ%ﬁqwm@rﬁé’rwmwaﬂm
Code - v e ~
(a) Neither 1nor2. - (b) Only 2 OK ar 1?IT '&"f 2 (b) Haer 2
(¢) Only 1 ~Ad) Bothland2 W 1 (d) T 1 Forr 2
54. On 25 December, 2022, which of the following 54- 28 ﬁ'\'ﬁr\’ 2022 31, =fRea & ¥ oy <
countries extended mandatory Military Services E’RT 1 \—,I—,‘-c@ 2005$ qMe. 5= T W ?f} o
for one year to those males who were born after
4 | R TP 9§ B A Jar Afart sy & T2
01 January, 20057 , ‘ _
(a) Afghanistan »* | (b) Myanmar ~ (@) am .”I Sk (b) q.|‘|||q
- (¢) SriLanka 7 ) Taiwan (©) sfreten . (O TrEaEr
55. Who is the Author of the famous Novel “All the 55. VIR IdIeH REWR, 2022 Ui B dIl
Lives We Never Lived”, which received the TRg ST e | e H YR Rres” @
Sahitya Akademi Award, 2022? _ AGE BT &7 A
_a) Anuradha Roy (b) Shobha De ~ (a) SrgRmn jfE (b) IrT
| () Anita Desai (d) Sudha Murthy (o) o e (d) g Hff
56. Which type of vaccine protect against 56. fbwi Wb @7 AT fERRRAT | T 87
iphtheri P - s
D')p htz;13?7 (bo)/‘ (a) THARTAT. b) AR AR
(@ m Viral Vector » . ‘ '
(GRS RIS d) <Trgd refacs
(c) Toxoid 7 ~9) Live-attenuated (et @ g .
23101 ‘ Page 12 of 32
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57. The aquatic plant commonly used as bio fertilizer

in the water-logged rice field is -

Aa) Azolla

(c) Wolfia

(b) Lemna
(d) Trapa

58. Given below are two staterﬂents, one is labelled
" as Assertion (A) and other as Reason (R) -

Assertlon (A) - The President can recommend to )

the Parliament to change the
boundary of any state after
seeking views of the concerned
Legislature of that state on the
subject within specified period.
It i not mandatory for the President
to accept the proposal of the
concerned State Legislature.
Select the correct answer using the 'co'dé given

Reason (R)-

below -

_2) Both (A) and (R) are true but (R) is not correct

explanation of (A) - .
(b) (A) is false but (R) is true -
(c) Both (A) and (R) are true and (R) is correct
explanation of (A)
_ (d) (A)is true but (R) is false
9. Which of the following is known as lqughing gas?

(@) Carbon Monoxide _b) Nitrous Oxide

(©) Chlorofluro Carbon (d) Ammonia

6
0. Who was the leader of rebellion in Barellly, Uttar
Pradesh dunng 18577

(@) Nana Saheb
- (© Hazarat Mahal

* (b) Kunwar Singh
A% Khan Bahadur Khan

57.

58.

m BYJU'S

STelg der Ry wrE: oI wnfad e\ @ @ |
ﬁa—wzﬁmﬁmﬁmﬁfﬁ?aﬁ
%_ .
(a) ol
(c) afewar

(b) oI
(d) gran

A 1 o &, R & T B AfAHAT (A) 3R

TER BT PRVT (R) FET TAT & —

W(A)—ﬁaﬁmaﬁ@mmﬁaﬁ
Wmﬁwaﬁﬁ%
WWWWW@F@

L S o e R
W(R)_Waﬁwwﬁaﬁmm
\:ﬁﬁﬁqwmﬁﬂ‘aﬁwaﬁgﬁ?—

(a) (A) 3R (R) T | % ﬁ)‘*\j (R) (A)Eﬁ ﬂ%’r
T T8 PRl & -
(A)W%ﬁﬁ (R)w%
(A)aﬁ-\f (R) <1 & & aﬁ'\f (R), (A) @1 =T

59,

' 60.

* Which of the following is not a part of the 61.

A
| (ar)tlc'e 20 of the Constitution of Indla?
DOUble jeOPardy )
Clayse

(b) Prohlbltlon against
Self Incrimination

Pr0h|b|t|o .
nA
ot gainst (d) Ex-post Facto Law

[B-1-23] 15370;
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(A)W%\ﬁw_\j (R) TeTeT &

ﬁwﬁ@aﬁﬁﬁr\ﬁsﬁﬁmaﬂ#mﬁﬁzﬁ
wﬁvn:nwm%?

@ ik A st () Teg it oY
(€) FEANFART BTE Y (d) SRR By

1857 % Tvelt. STR Irés'rﬁi HIRY BT e DI or?

(@) 71T e b) B Rig

(€) ToRaT w'e | (d)@ﬁiriﬂg‘\r@q
ﬁﬂﬁf@ﬁﬁﬁﬁqwq@m

20 1 o e 27 ¥ a7
(a)'a‘rzri TUS B R (b)mm
<°>m$mvﬁm(d)wﬁ‘;%
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| | 62, % MR & < ¥, FrfeRad somy
62. With reference to the Attorney General of _Indle, ER;I bl A %/%?
which of the following statement/s is/are - A1/

correct? (1) FEIEATE B Ug R U <l @ ﬁ‘gﬁa

(1) A person is appointed as Attorney General B o f F oty
who is qualified to be appointed as a Judge of STITH =T etd

» @ forg aifda &t
the Supreme Court. _ ﬁ_ﬂiﬁ f"ﬁ EE’WW 5 -\q
(2) The Attorney Generdl “tan be removed (2) HETITIETLT ug gfehar

through the same process as the Judges of the TCIT ST 9l £ O 6 Sw=a| RNIEDE
Supreme Cour

' RIPCINIE Il
Select the correct answer from the code given Tﬁ'ﬁ fav o o A q:ﬁ?[ TR BT T qﬁﬁm -
below- = [ _ v
Code - o ' MU R~ ‘ ‘
@) Neitherinor2 () only2 =~ @aFdN1TME2 () e 2
(©) Both 1and 2 ~d) only1 . . ©OTEiigwr2 () daa 1
83. By which year the target of populatnon stablllty 63, YRa ¥ SR W &1 <y fobg ETET SEY
has been fixed in India? ' ﬁ’%ﬁﬁﬁ o T 37 .
(a) Year 2080 B Year2085 . (a)q§ 2080 TH (b) av. 2045 TF
(©) Year 2070 (d) Year 2075 - (©) 99 2070 T d) a9 2075 7 o
64. Which one of the following pairs-- (Schedule - 64. ﬁ'l:r g A B {1""? (dfeer a5 aﬂ'ﬁ?ﬂ
Subjects) is not correctly matched? : — fawz) @& oo =8 &2
¥ Ninth Schedule - Allocation of seats in- the o (@ = T — XIS H R BT e
- Council of States - I 5 f%
(®) Third Schedule - Forms of Oaths or - L N : % EI"\W
Affirmations : - (©) 3SEl SR — W _ - -
(©) Eight Schedule — Languages " iy SERTR (d) Tt AT — T gReds D AR W
(d) Tenth  Schedule = Prowsnons ‘as  to S ‘ - \ -
disqualification on ground of defectlon , : E ‘
65. Match list-I with list-l and select the correct 65. I Hﬁ [l ‘\’5[ ijﬂ%‘—lﬁ Ealiyiy gt
‘ answer using the code given below the lists — V » E & T?R q I8 SR Ea) ﬂiﬁwaﬁﬁm jﬁ
List - | ; o 1 -l '
(Sustainable Development Goal) ?\"l?g‘d faere &) -
(A)SDG-10 ~ % : (AT, -10
(B)SDG-13 — | - - (B) THEISN, - 13
(C)SDG - 14 : : (C) SIS, -14
(D) SDG - 15 o | . (D) THZSN. - 15
List- 1 : : | -l
(Related With)‘ _ ; ' (ﬂﬁrﬁqa)
(1) Climate Action e (1)@@\% |
(2) Life on Land , (2) 9 9= SN
(3) Reduced inequalities | (3) AR | B
(4) Life below water _ (4) 9™ & N BT qﬂ—q:f
COdEf ' : ﬁ -
(®) A-(3), B~(2), C-(4), D-(1) a). A-(3), B-(2), C-(4), D-(1)
(b) A-(1), B-(2), C(3), D-(4) ~ (b) A-(1), B-(2), C-(3), D-(4)
- (c) A-(2), B-(3), C-(1), D-(4) ’ () A-(2), B-(3), C-(1), D-(4)
A4 A-(3), B-(1), C:(4), D_(_Z). ~ (d) A-(3), B-(1), C-(4), D-(2)
[B-1-23].153101 = . i 5 Page 14 of 32
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e
\V\G- Which among the following is a constituent of  66.
natural silk? .
~ (a) Phosphorus (b) Potassium
Jer Nitrogen (d) Magnesium

@ on which of the following, proved charges the
finance Minister Nadhim Zahawi was sacked

from the Government in February, 2023 by the
N /‘ .
N/ pritish P.M. Rishi Sunak?

)(e)- Disclosure of Secrecy (D) Sex Scandal
of the Cabinet ~ -
(0 TaxScandal ~ (d) None of the above

in which state?
(a) Gujarat _Ab) Haryana
(c) uttar Pradesh (d) Punjab
69.| ‘Mount Newman’ is' famous for which of the
following minerals? 2N
#(3) Copper « (b) Manganese »
(c) tronore » Ad) Bauxite
70. ‘Which of the following is not an economic - .
activity? A % 32
_#¥ Voluntary Soaal ~ (b) Farming’ '

Service _
(d) Transportation

(©) Service
71. with reference to the Puranas, which one of the

following statements is correct?
(1) Information about the Ma_g;ygn_dlﬂﬁy is
found in the Vishnu Puran.
(2) vayu Puran throws light on the Gupta’s
Yoy ruren Y. ..
governance system. _—
_1a) Both1and 2 (b) Only 2
(©) Neither 1 nor 2 (d) Only 1
2 Which of the following (Scheme — Year) is Jot
correctly matched? :
(@) Sansad Adarsh Gram Yojana - 2014 ..
wL-Peen Dayal Upadhyay Gramin Kaushalya
Yojana - 2014
(©) Shyama Prasad Mukherji Rurban Mission -
2015 «— il

(d) Rural Housin \
g Interest Subsndy Scheme -
[B-1-23] 153101 -
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67.

- 68. The Indian Biologic is being set up 68

69.

. 70.

71:;
R

m BYJU'S

?ﬂﬁr@ﬁﬁﬁm@mwwmaﬁﬂ
? ‘

() BRTRY (b) grefRrEw

(c) ATgEIe (d) F=ferH

ArfifReg § Q fra Rig a9 @ MR W
w2023 1 Ry yuEEA Al GIP G
MWﬁﬁﬂﬂé‘raﬂﬂa‘s’rﬁrﬁsﬂﬁm

o7

a) wAMUS P (b) g ThUSA
MoEaT 97 B
o) S ThUSe (d) sugam & & FIE TE
mﬁﬂﬁﬁméaa%ammﬁwﬁﬂﬁvm
T X7 87

a)gvma - (b) sRa™m

c) SR Y (d) g -
Amﬂ{ﬁ?ﬁﬂﬁlﬁﬂﬁﬁﬁmaﬁﬁ?ﬁm
g &7 ,
(a)m'—sn- (b) FieT
() dfg e (d) §faEse
ﬁw%@ﬁﬁﬁaﬁmﬁmfézﬁma‘é’r%?
(a) wftem WSt T () faEr (@)
(o) A '+ (d) gRag+

it B vt ¥, PR port § ¥ P |

‘(‘1)%@1’}[%@@@%@%‘&%[
(2) aRg QRIOT T[T G Dl AT HaARAT TR YhI
 STeR gL . |
(a) ST 1 <RI 2 (b)-;maz
(c)=ra>r1‘=n-§r2 d) Saet 1

gafer et &7
) Wmmm—zom

(bmmmmaﬁwﬁ |
2014 ' -

:3 Wmmﬂmﬁwaqm — 2015 -
bl ? EEWW— 2017
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73. What do we. call balancing the need to use 79 HErET & UGN qA "Tﬁg‘;? qu?;ﬂ;&;ﬁm
resources and also conserve them for the future? . g’;f SaeIHar Bl ﬂgl?lil )
(a) Resource Sustainable _ ' |
conservati;n }m’development (a) AT ARET b) e faeTa
(©) F%re resources (d)?'Reducing , (c) ¥Ry & WEFT (d) ud § B BT
[ > consumption |
74. Consi@ér the following statements concerning 74 e S W cag ﬁ%; Qma'aa”;' m
the pd'ﬁers of the Supreme Court to issue certain j:lﬁ 3 gg niraigrﬁ ks
writs to stop violation of Fundamental Rights — DY
(1ﬁiua\_/bup$eme Court has power to issue writs (1) S=IdH <qrarerd P Ig i W@,ﬁ%ﬂ?}f qg
like Habeas Corpus, Mandamus, Prohibition, g g, URART, WIS, aE
Quo Warranto and Certiorari which is 9T 3R I Re, oif 9 gt il
appropriate _for . the . enforcement  of - Wﬁf?ﬁﬁw_\q’ﬁ%ﬁﬁf 99 Re &1
Fuﬁamental Rights. DY ﬂ'cﬁﬁ =
(2) Pdifjament may by law empower any other (2) G BT APHR § fh a8 35!713 Epa ol
‘ to exercise within its jurisdiction the I N B I JMRBIRS I
powers given to Supreme Court. Arrelt @ Hiaw Seadd AR B 4 T8 39
Which  of the  above mentloned SIfkTal &7 JART &R Ghar 81
statement/statements is/are_correct? IRIFT ST A BT/ SR 8l 8 /87
Select the correct answer from the code_ given R e T @we dH WEl SR BT WA
below — Py — :
Code - _ HE —
(@) Nq‘ﬁ\er 1 nor2 (b) Only 1 (@941 82 (b) Pael 1
() Or{ﬁz ")) Both 1and?2 - () BT 2 ) 13k 2 g}
75. The ‘RJSAR satellite” is Jolntly developed by 75 “fOR IUUR” ﬁﬂ:ﬂ%ﬂ%ﬁr # 9 59 HreHt gri
whichf the following orgamzatlons? T ged w9 W Aol fear iy 82 ~
(@). ESA and NASA (b) ROSCOSMOS and. (@) STET. &R A=, (b) AvpgE SR W,
CNSA ; T1.y9Y ,
_{0) ISROand NASA  (d) ESA and ISRO ~ (0) SERY @R AT (@) 7Y, ok gy
76. whiclwf the following statement is correct? 78. f=foRae demi 3 A B AT G 27 A
(1) RamGanga river joins the Ganga at Kannauj. ~ (1) X9 T T BT B U T A § Ryerd)
(2) Ri\t% Betwa joins the Yamuna near Prayagraj, X gl
Select:lhe correct answer using the code given (2) QQHT T FARRTST & ard ?Tﬂ:” :‘_c«pf ¥ fArercht
below — -
Code - | ;ﬁ;_jf_ﬁwmﬁﬂﬁwaﬁq_
(@) Only 2 (b) Neither 1 nor 2 a) et 2 (b
Ac) Only 1 | (d) Both 1and 2 ¢) Baer 1 d; ;;? 11 ;;T_él 2
77. With reference to the invaders in ancient India, 77 m%ﬁ=r B B YRT WX 31TEFHUﬁ ‘cﬁ ECEE:]
which one of the following is the correct AR
chronological order? TN B W TE W %?
(@) Greeks — Kushans — Sakas () A — F{ET — 3%
(b) Sakas — Greeks — Kushans (b) Irp — uc;rrrﬁ BT
AC) Greeks — Sakas — Kushans (©) AN — o — THuToT
.(d) Sakas — Kushans — Greeks (d) 316 — BuTOr — AT
[B-1-23] 153101 Page 16 of 32

N IIIIll_IIIIIIIIIIIIIIIIIIIIl



. . Www.byjusexamprep.com

\
of the following Acts, the system of 78.

\By which
" «chamber of Princes’ with 120 members was

crgted?
_4a) Charter Act of 1853 (b) Act of 1919 ¥ V0]
r\.
(d) Act of 1793 :::;

y (c) Act of 1909
79. 'Which of the following hormones is

the _Eﬁca_c_eﬂ_oi-lslet o’fiangerhans of Pancreas?
(a) Glucagan’ (b) Adrenalin '
(d) Aldosterone

secreted by

~_48) ' Insulin
80. Which of the following elements is not a Noble  80-
gas? . —
(a) Argon ~6) Actinium
(c) Krypton ~ (d) Radon o
With reference to the Pope Benedict XVI, whorﬁ 81.
died recently, which of the following statemént/sg
is/are correct? v ' —
1. He was a native of Germany. » ;
2. He was the first Pope to resign in 600 years..~
Select the cor‘rggﬂ,syier using the code given
‘below — : . -
Code - o Y 0
(a) Both 1 and 2 (b)\ Only 1 K
_ (c) Neither 1 nor 2 Ad) Only 2 8 '

82. ‘Which of the following factor is the most© 82.
important factor for the lost of biodiversity?
(a) Pest control /ﬁb) Destruction of

~ npatural habitat

(c) Control of predators (d) Genetic assimilation .,

83 i .« . responsible forﬁ 83.

. The Xylem 1D plants 1S resp o

" transporting - ' ' g it
(@) Food (b) Amino Acid —
Pl Water (d) Oxygen
' ’ 84.

&9 Where was the ugydarshan prahar Army -
Exercise” carried out in December, 20227

) Rajasthan

(@) Uttar Pradesh
: (d) Madhya pradesh

v 9]
S 79.

_ @BWys

frforRaa # @ o fafam gxu, 120 A&
W’Wgﬁtﬁfﬁﬁﬁﬁf’aﬁwmaﬁﬂéaﬁ?

(a) 1853 @7 aTex Yae  (b) 1919 T rfefrad

(c) 1909 T afdifrga  (d) 1793 T S
ﬁrwﬁvrf@ﬁﬁﬁmgmﬁmma%ﬁﬂﬁﬂ
gwa?zﬁaﬁa@a(ﬁﬁmaﬁ)mﬂ@ﬂ
. A ’

(c) STt (d) TR

frgige, 2022 § "G WER {= eraTg” HEl
fa 7T AT |

(a) ITR T (b) RToTRATH

(c) ORI - (d) e g

fehrg=a ¥ wRTe T T B Py AP Bl

9y farapY T 87

(@) SfdveaiREl &1 (b) ARl B

() ¥ vd (d) siaaTR; B
SPRPIARAT BT

(¢) Gujarat : s
\8_5'/ To whom does the credit goes for the .
development  of coconut  and sugarcane

agriculture in Philippines?
(@) Hollanders "+ (b) Britishers
&) spanish and " (d) French
Americans |
7 Page 17 of 32
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86. Make the pairs of chief rivers of their place of

origin —
Rivers Place of origin

(A) Yamuna+ & (1) Sihawa T

(B)Krishna =% (2) Nasik =

(C) Godavari — 2 (3) Mahabaleshwar

(D) Mahanadi — ) (4) Yamunotri
(@) A-(4), B-(2), C-(3), D-(1)~
(®) A-(4), B-(2), C-(1), D-(3)
-~ (©) A-(4), B-(3), C-(2), D-(1) .
(d) A-(1), B-(2), C-(3), D-(4)
87. Match list-l with list-ll and select the correct
answer using the code given below —
List -1 List-11
(Mountain) " (Countries)
(A) Kilimanjaro — % (1) Morocco
- (B) Toubkal - . (2) Algeria

(Q) Stanléy - -(3) Tanzania
(D) Hoggar — 2 (4) Uganda
Code - :

4 @ A{4),B-2), C(3), D-(1)

£° A4),8-3),C(2), D(1)

(b) A-(3), B-(4), C-(1), D-{2)
—4 A-(3),B-(1), C-(4), D- (2)]

88.  Which one of the following (Lake — Country) is not -
—

86.

87.

m BYJU'S

mﬁmlmammm‘fﬁﬁ%

(A) T (1). rersra
(B) FoT gzg ik
C) MeEN 3
V'fo)) g (4) TR
(a) A-(4), B-(2), C-(3), D-(1)
(b) A-(4), B-(2), C-(1), D-(3)
) A-(4), B-(3), C-(2), D-(1)
: (d) A-(1), B-(2), C-(3), D-(4) 5
— | BT A1l gAfera BTy I ?11%"1"
Eﬁq ngiﬁ Gl Tl'&»pf SR gy —
-q\.—c’n_l ; ?Iifl’— ]}
@) («=1)
* (A) freREeIRY (1) AR
(B) Tg P (Z)HTvﬂﬁgT
- (Q)wATe (3) dsrf=aT
(D) IR (4) gmisT
o = _

(@ A- -(4), B- (2), C-(3), D-(1)’

~(b) A-(3), B-(4); C-(1), D-(2)

88.

(¢) A-(4), B-(3), C-(2), D- -(1) _
(d) A-(3),B-(1), c-(4), D-(2) - R
frfoRed & & srar @har —<3) HE gfﬂ%m

correctly matched? T8I B8?
@ ) (arM\zlf—i/c_g_Ltgg 4 (b)_ Mlchlgan —_U\mted (a) ARTHIZET — (b) st — |
Venez\uela State of America : ?ﬁ\"g’@n g e,rﬁrﬁm
‘M/ Onega-Canada  (d) Baikal - Russia — - © A - FERr  (d) ST — w9
Who has written the book ”From De endence to 89
4 Self Reliance”? - g ' %‘m LS S B W *
O )y, Venugopal Reddy (b) Bimal Jalan (a) GIES %I‘T'ﬁq'ra X O) e ST
(©)_C. Rangrajan (d) Raghuram Rajan » ¢) . TR (d) YERTT ToT
9. With reference to the representation of Uttar 90. W‘c{ ¥ IR R—Y B iR & e
Pradesh in Parliament, which of the following - iRy FE ¥ W @) |
- statement/s is/are correct? ' ¥ W E/E
(1) Uttar Pradesh has 31 seats allotted for Rajya (1) 3157 w1 ]%W STR TR BT 31 W Imafea
(2) 80 - b o oy
member
UttarPrades; ofﬂfabha are elected from (2) AeTT B 80 WEW STR WY @ ﬁ‘cﬁ%ﬁ
zellect the correct answer using the code given B &
elow -
Cod:’_ *ﬁﬁﬁ?ﬂ?aﬁ@rﬂ‘aGﬁ?gﬁq—
(@) Only 2 (b) Neither 1 nor 2 - |
() Only 1 _9) Both 1 ang 3 (8) aet 2 ) T a1 & 2
| | (c) daer 1 () T 13y 2
[B-1-23] 153101 Page 18 of 32
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4. with reference to the Captain Hawking’s, which  91. @ gffdmr & wee o frferiad Pt A W

of the following statements is correct? DI 9T e 27 v
(1) He came to India in 1611 as an envoy of (1) 98 1611 % o=7 — | & 7 & wT ¥ 9Rd
% ames-1. 7. '\Big__ - o emm '
(2) He was very well versed in Turgg_h_language.'ﬁ/ (2)az W TST T qgCI. ST =AM .
X.i) Neither 1 nor—Z (b) Only 1 (@) 7 177 & 2 (b) Paa 1
A8 Only 2 (d) Both1and2 (0) BT 2 (d) < 13RI 2
92. Which one of the following is the main objective = 92- fAr=ifeiRad ﬁr ¥ P AT S ‘\j??ﬂT IﬂTrFlT L
of Janani Suraksha Yojana? | | ;rga I B7 |
ﬁ@:ﬁon in maternal and neo-natal (&) WY TF SR I T g <X & FH
mortality rate /. o ' | D)Wﬂﬁﬂ@ﬂﬁﬂ .
(b) Reduction in maternal mortality rate only - Vi W QI?I ’Fﬂ v —

v
(©) Reduction in infant mortality rate only '
d) Hael. :rdvrna g‘g w ¥

(d) Reduction in neo-natal mortallty rate only

@ The resignation letter by a Judge ‘of Supreme 93. wafed R’JWTFPI P TdD WI'JIEﬁET aﬂ FJPT—T’SI

Court is addressed to - - A SEIEG] ?IT'” g - |
qa) The President (b The ChiefJustice of .2 - <,a) Irgafa PI - .(b) AR Ef? &
- R - India V" S A | ST @Y
() The)Erime Minister (d) The senior most © HHWHB'IT _ - _ .
: ’ Judge of Supreme- ; (@) e
Court . , IRSTH AT B
9. With reference to Union Finance 'Commi.ssion, 94- ?W ﬁﬁ 3ﬂ?ﬂ1T D 'ﬂ?{'ﬁ H f=feReg ‘\T q
which of the following statement/s .is/are Eﬁw/'\ﬁ BT T &/
correct? (1) RT ST % e st o w: T B E |

(1) Finance Commission has a Chairman and six

2 (z)wmwﬁﬂaﬁ:ﬁﬁmﬁqﬁam

members. A

(2) It submits its report to the NITI Aayog. .., . VB
_Select the correct answer using the code given Rl EAY N He Y
below — ' - ﬁ ‘\Hﬁ[ kil W.
Code - | 7T
@ only 1 ~—19) Neither 1 nor 2 (a) S ‘
- ©ony2 - (d) Both ) e 1 _
S\ oth 1and 2 | (CW ;TT-ﬁ1=ng>[2
angul-deer is found in which part of India? 95 2 d 1 W
~ @ InAssam A7 In Ja ' & 14 wypy 2 ‘
Mmuand - %? E’rﬂa a9 PT %?UT
: . Kashmir U Sy
© In Rajasthan (@) In Kerals (@) s 3

- [B-1231 153101

- Pag°.19of32"



T ——SENE S s

www.byjusexamprep.com

EBYus
qmazswmﬁﬁmqﬁaazﬁmfhmj
|

!

' ‘ 6.
96.° With reference to the composition of . the 9 ,
Legislative Council in a state of India, which of the 3 e § § eFar/d $UT Fel 8/
following statement/s is/are correct? (1) 7@ fur uReq # S T BT faurTe ‘
(1) In the Legislative Council there may not :)e' et < e & TP f?ngs‘ I Wﬂ
more than one-third members of the tota
membership of the Legislative Assembly of g S EeA §
that state. (z)wwaﬁﬁuﬁqﬁwﬁw?rmm
(2) The Legislative Council of a state must have at oqeg & B TRy
least forty members in it..~~ SIS PR ‘
Select the correct answer from the code given o fag ™ oe | |El W AR - }
“Code - T e '
(b) Baet 2 |
_1a) Both 1 and 2 (b) Only 2 a)mlmz. d) et 1 ‘
(c) 7 @ 147 & 2 (
- (©) Neither 1 nor 2 (d) only 1 3 & g ‘
97. Tappa style of music was refined and developed < 97 &ifid @t ewr it =T T
in wh?lch of the followmg Mughal Emperors e @ axaR 3 Wﬁﬁfﬁ vd AR §‘s‘? 1
Court? o . '
(@) Akbar  (6) shahjahan (@) srpaR (b) e
<4€] Muhammad Shah  (d) Jahangir (c) gewIg e (d) SR ‘
98 With reference of the election of the Vice - 98. WRa & Swrgufy &1 fakH, R Hdiﬁi
President of India, which is declared void by the AR ERT I B frar T &, B dad o
Supreme Court of India, whlch of the followmg ﬁ,q = @f BT /A PUT TE &/
oy o 3 Vi e A1 STOSOR 9 535 e ) S 2 ¢
before such declaration are cons_rdere_d ,valrd.‘/ SHd gR 5y 1Y Srifafyy A B § |
(2) The acts done by him as Vice — President on (2) SRIEURY & ®T ¥ 39 TBR P Geor B
the day of such declaration are not considered ' P 9 Sua g f5Y T SRIRRY Wy :
valid. -2 - : oA v :
t f the de given R |
zzllicvt .the co(rrec answer from co gr B ﬁ? ™ e & w8 B?R’ WREEE 1
Code - 0 - | |
(@) Both1and 2 v?bYOnIy 1 : (@) T 1T97 2 EF}EIB{ 1
(c) Only 2 (d) Neither 1 nor 2 - O FmE2 )T A AT 2 |
. 99 Match list-1 with list-Il and choose the correct. 99 ¥fi—| 1 GCIR:| gﬁf%rcr BT T = Ry 1
| answer using the code given below the lists — W T I IE SR ‘gﬁrq |
‘(Archaeological site)  (Present location) (qRTenfee® <oren) (@ worr)
(A) Nevasa (1) Rajasthan (A) Sarar (1) TSR
(B) Isampur (2) Tamil Nadu (B) SHAYR (2) AT
(C) Didwana — | (3) Maharashtra (C) SrsarT - (3)HERE
(D) Gudiyam cave ~2_  (4) Karnataka (D) Tf$A™ T[T (4) Ffes
Code - HE —
(@) A-(3), B-(4); C-(2), D- (1) (@) A-(3), B-(4), C- (2),D (1)
(b) A-(3), B-(2), C-(4), D-(1) (b) A-(3), B-(2), C-(4), D-(1) \
) A-(3), B-(4), C-(1), D-(2) (¢) A-(3), B-(4), C-(1), D-(2) |
(d) A-(4), B-(3), C-(1), D-(2) (d) A-(4), B-(3), C-(1), D-(2)
[B-1-23] 153101 Page200f32
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. with reference to the SCO Film Festival- 2023,

which of the following statement/s Is/are
correct? :
1. The SCO Film Festival is being held during
India’s  Presidency of the
Cooperation Organisation. .—
2. SCO Film Festival will showcase the films from
the SCO countries.
Select the correct answer using the 'cdde given
below —
Code-
@ only2
(¢) Neither 1 nor2

~ Shanghai

(b) Only1-

01. Which of the following statements is correctl

about \aterite-sett?

(1) This soil is developed in areas with high

- temperature and heavy rainfall—"

(2) itis poor in iron oxide and aluminium. » -

Select the correct answer using the code given -

- below -
Code- _ -
(@) Both 1 and 2 (b) Only 2
() Neither1nor2 A& Only1.

102. Which among the following (Provision — Part of
the Constitution) is Matche.d?

_A2) Tribunals - Part XI
(b) The Union Territories — Part VIl |
(©) The Scheduled and Tribal Areas — PartX
(9 Official Language — Part XVII
103. Consider the followmg deserts and arrange them
in increasing order of their snze (from smallest to
largest) -
(I) Great Sandy desert
() Arabian desert
(1) Sahara desert

(IV) Gobi desert
Select the correct answer using the code given

below -
o) 11,1, 1v, 11l RCERVATNT
© n,1,m, v A

[B-1-23] 153101
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100. wafﬁafr e WAIg-2023 @ A=A H
AR w3 @ @ /% w8 /&7
1%%%2&%7&3@%?

aﬁquﬁaﬁﬁmqﬁmaﬂa’rf?ﬁm

- WRE Rl
2@@@%%#@1’#@@#
oot g wmft)
?ﬁﬁﬁﬁnﬁaﬁfﬁrmww’rwm
ﬁﬂ??ﬁﬁﬂ?—_‘

e .

(aa%aaz (b) et 1
c)Faqriarar2, - (d)QE 172

101, ﬁmﬁr@ﬂ%ﬁﬁﬁmﬁﬁfﬁmﬁ
PV G P wE 87 '
(1)%%@@%@%3&?@%%

g gt 2| ‘
(z)wﬁé’rﬁaﬁgmwmﬁmaﬂ
Hd grlY S R :
%mwmﬁﬂﬁrmgﬁq—
m-d—'-

a) gFf 1qam 2 (b)--csaaz
?{‘cﬁ1:nt512' (d) daeT 1 .
02%@%@?{ﬁﬁaﬂﬂw(maaﬁ e B
?{é‘rgﬁrfaﬁﬂé’r%?
a)arra-cmw AT X

(b) =Fer 7o &7 — T VI .

(c) S SR TS &5 — WA X

(d) RTSTATST — |RT XV '

103. fy=feriRaT XARAMT W TR SR qor 9=
manma%aa%rmﬁmaﬁuam(
Bl W a9 favqa ) —

(1) I v HRoverey

(1) SRRTT Hoerey

(1) TERT ey
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| 104 A5 per social Progress Index, released in 104 f&wsR, 2022 ¥ v wrfore wwify P 3
| December, 2022, which of the following are on IR a1 ¥, Frafofad § @ &9 afy W

top three positions In very high social progress in

Tier-I1? TR Sy % o A o v &2
~8) Pondicherry, (b) Mizoram, Himachal a) Uif$ast, Fegy e’ﬁ—\r (B e, .
 Lakshadweep and Pradesh andadakh Tt T3 AR <

Goa T I

. ’ e, AT SR (d) Sude # 9
(€) Kerala, Nagaland $9) None of the above .« ' . : 8
> | o EeR
and Meghalaya
105. Consider the following - statements = about 105 Wi e @ Wt # FrferRad bom v

sustainable development — - R @y —
o = vevelopmen
(1) Based on the global indicator framework and

data produced by National Statistical
Systems and information collected at
regﬂfﬂLe_Vgl,_tbe United Nations Secretary

Q\\

General presents an Annual Sustalnable '

Development Goal Reporty: —

(1) Waw qad = T IS iy

TR ERT WA 6 &AF R g
wmwzﬁaﬂwwﬁg‘dﬁw
e s e e, e a
RUIE ueqa axa g

(2) Global Sustainable Development Report is
produced to mformhr;he quadrennial -

‘—ﬂ

sustainable development goal revnew :

deliberations at the U. N General Assembly

(2) MR HeRe e R & fmm T
X AET # EqEiiie  Gureiy R
e & fawal B gRIEeeT 8 ey @

once every quarter. s4 - ' Sy \_gjiql 7 aEﬁr - W & ST
Select the correct answer usmg the code given
below — ‘ B &y _ g aﬁﬁ’m S
Code - | A e - - B ‘ '
(@) Both 1 and 2 ®-only2 a) Ml 1Td 2 (b) HIA 2
- (©) Neitherinor2 (&) Only1 | )M 12 d) daer 1

106. Given below are two statements, one is labelled  106.
as Assertion (A) and other as Reason (R) - :
Assertlon (A) — The President is a part of the ;

Parliament, — '
Reason (R) — A bill passed by the two Houses of

ﬁ%?{‘fzﬁwf% ﬁmﬁﬁwaﬁwﬁmm(l\)
.aﬁ?a@%aﬁwm)mw%—

' APUT (A) — WTEARY TS BT AT B |
W(R)—W"zﬁa‘lﬂ‘fm?*fmqﬁaﬁm

the Parliament cannot become a TS 3 \ehy & ﬁ‘-’ITEFFEHﬁ
law without the assent of the I Fhar B |
President. .~ e cod l?ﬁﬁﬁqwmmwmeﬁwfﬂ
ts;l:;tl the correct answer using the code glven T BT — ez
’ (@) (A) is true but (R) is false A (A) ¥ & g (R) Term &
. ! Mb) Both (A) and (R) are true and (R) is correct_ b) (A) 3R (R) Bt W ¥ iR (R), (A) 21 w
{ (' explanation of (A) R Hell &

(c) Both (A) and (R) are true but (R) is not correct
explanation of (A)

(d) (A) is false but (R) is true
[B-1-23] 153101 Page 22 of 32
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107, which of the following events was the last in
chronological order? )

(a) Home Rule yo¢8
Movement

-

Massacre

(c) Khilafat Move{n&%nt (dLMoplah Revolt=1 122
108. which of the following is’ not a biodegradable

polluter?
(a) Urine
(© Domest|c waste
109. The “Agenda — 21" of Rio Summit, 1992 is related

) Pesticide

(d) Faecal matter

L

to-
(@) Preservationof  _{b) Sustainable
Z~ ' ozone Iayer7° -+  development
(c) Polluter—Pays (d) Environmental
principle’Q education

110. pesert dwelling animals are called -

_1a) Xericoles animals (b) Terrestrial animals
_(c) Arboreal animals (d) Fossorial animals
111. Which one of the - following place is the

confluence_-of the river Alakhnanda and the
Alaknnanta
Bhagirathi? ' '
s il
_a) Dev Prayag
(c) Vishnu Prayag
112. seaweeds are important source of -
_Ab) lodine
(d) Chlorine

(b) Karn Prayag
(d) Rudra Prayag

(a) Bromine
(c) Argon
113. Which of the following statements is_not true

regarding ‘Gram Sabha’? ,

* (a) It has the powers and functions at the village
level, like state Legislature has at the state
level. '

ined by the Central

}" Its powers are determ!
Government.
© It is a Village Assembly
registered voters in the area of panchayat.
(9) (a) and (c) both
L Example of Lotic ecosystem is -

(@) Swamps (b) Ponds
e nedd 4 ;| —

—C) Rivers (d) Marshy area
), —

(b) Jallianwala Bagh"“c( A

110

consisting of all

107.

108.

109.

111.

112.

113.

m BYJU'S

T H gfe ¥ PrefRad geel § A
P sifem ofi?

(@) 8 wa afigre  (b) SIferaiare 9T

' BATHTS

(¢) Raema ardrer  (d) Arern fasE
?ﬂﬁrﬁaﬁﬁﬁaﬁﬂwmﬁwwﬁ

?

(a) 7= b)ﬁaﬂmfﬁ |
() =Ry, FraRree o) vt waret .
gaﬁmm 1992$r aier-21" et

(a) 3NiH IR B (b)wﬁmﬁ
WETH e
() ygue — YA (d)qufawﬁmﬁ
fgia |
-%ﬁ?ﬂﬁﬁmmﬁaﬁmmﬁ%—
'(a)'wﬁﬂimﬁa? (b) TrelT SIHaY
'(c)qmﬂfﬁvrma‘x’ (d)ﬁaaﬂﬁaﬁtm‘cr\'
ﬁwﬁf@aﬁ%mwwm@
(a) 3F AT (b) ol SATT
(o) fareg wramT (d) S= FATT
() FFF B (b) TR B
(0 Irta ® LA g D
ﬁqﬁr]@ﬂmﬁﬁmwzﬁwﬁm
- T8 eY \
(a)sﬂa%maﬁ?grﬁﬂmumwwmﬁw
%‘ﬁﬁmmﬂwﬁmfﬁmwwm |
S } ‘
""(b)sﬂﬁ?ﬁﬁﬁﬁﬁﬂmﬁuma‘;
gREaTEl
(T W@ I wR B w2, Rt dara @
1 B < i A W A E
() (a) T (c) ST ‘
114.mqﬁwﬁa*mr %—
. (@) T (b)msn ; }
(c)ﬁ, (d) oS & (amef :
o)
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115.WWWW'IWW@?‘W$ |

115. What was the name of the female Regiment

constituted as a part of the Azad Hind Fauj by R @ T A fea afger IR BT T TH

Netaji Subhash Chandra Bose? ; | _

(2) Bharat Mata _Ab) Rani Jhansi , &:ﬁ ol - —
Regiment | Regiment : 5{; (a) weet a7 fore f(b) T s

(c) RaniBhabani . (d) Veerangana % | W pan W o) ST ¥R
Regiment Reglment

116. Which of the following Scorpene Class  116. frforRae # ¥ ﬁﬂ? wpfdfa St @7 aTgs &l
e A s
Submarines was commissioned into Indian Navy SaRY, 2023 F AR T | e ﬁfﬂn Tg7?

\ in January, 20237 « | m GTI"S‘R’?TW JeT (b) 37TS.TA.TE. GISCIE
' (@) INS Vela (b) INS Kglvari e (©) ST T, T ‘ () g e T, AR
(©) INS Karanj. . _Ad) INS Vagir “"’ ,
117. Eastern boundary of the Harappa culture is 1~ frafeRag & ¥ PN gSWl WP B gdi dHid
indicated by which of the fo!ldw_i,né?.., s \ &1 fAEiRoT A -l AN
@ Manda ~ (b)-Rakhigarhi~ " (a) HIOST - (b) ?‘I@"Té’f
o Alamgirpur )tHarappa S - (c) 3 IRYR (d) gswr
118. with reference ‘to ‘PM Gati Shakti Scheme’, 1% Sion, TRef AoEr & ded f-’f ﬁ'ﬂﬁ“ﬁ@ﬁ H
which of the following stateme_nt/s. is/are ch?h 3 zﬁﬁq-\q-r/-\ﬁ oF 98l 8 /87
correct? @ (1 e, RIS Ao T IR 2022

(1) The PM Gati Shakti Scheme National Plan was
— ¥ far T 95[TI
launched in 2022. ¥ !

(2) The PM Gati Shakti Scheme pertains to seven - (2) XTSI SawiET WEW e (TR A

engines (Roads, Railways, Airports, Ports, | & g1 35"“ (ﬂga; N, Qqqc“é SERATE, S -
Mass Transport, ‘Waterways, ~Logis'cics % ) ‘Hﬂli S50 1 MR T S 111 Sﬁ'\’ difoiRed
Infrastructure). NIP will !:)e aligned with PM S? * STAERTARN) © Hetra g qive, wf
~ Gati Shakti Framework. ¢~ ' o e & T \—,ﬁ@-r QT |-
a Select the correct answer from the code given
7 g ‘ ﬁwrl%rf%cm HT ¥ el SR g —
below -
Code - : : xe -
~f8) Only 2 ! (b) Both 1 and 2 (@) e 2 R (b) 2T 1 3R 2
e (© Only1 () Neitherinor2 (©) Paet 1 S @FWiTa 2
119.1n which year, “Mid-day Meal Scheme” was 119. “HeATg o Ao BT “GL.gd. dIyor Frorr A
4 renamed as “P.M. Poshan Scheme”? fra o ge=ife fpar e |
a4 _
(a) 2018 (b) 2020 (a) 2018 # (b) 2020 #
s (9 2019 ~Ad) 2021 (c) 2019 # - (@2021%
[B-1-23] 153101 Page 24 of 32 |
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120. W}th reference to the “EL-NINO”, which of tt
. " ’ WhICh Of the 120. ”am_ " . 5 ) .
following statement/s is/are correct? \ W‘i/":‘_\ql @ ?T; ;‘r; frfoaa woml & &

(1) EI = Nino involves appearan :
ce of warm - . . .
current ¢ of the coast of Peru in eastern pacific. .~ (1) orei—<frt & i sreria & § 0% P T W

(2) This warm current increase the temperature T RISl 1 Foe &I AW gl
gf water on the Peruvian coast by 10°C there . (2) 38 T o1 4% @ A€ R Tl @ A P
SZamcr'e):smg the amount of Plankton in the 10°C 9% ¥e1 ot &, Rrad |qw A widbed
Select the correct answer using the code given - A A 7 ¢
below= ' :ﬁ%ﬁqwa&tﬁﬂﬁwgﬁ?—
Code - €@e —
(@) Neitherinor2 _48) Only 1 ;?2 ' @adrimer2 O Pad. 1
(c) Only 2 (d) Both 1 and 2 'r«m - () B 2 B qF-1 Tq 2
i21. Shivanasamudra and Kalpakkam are respectly 121. Rarrags gd derdadd DRl forey forg wecaqel
important for - < g N : '
Hydel Power and  (b) Thermal Power and (@) W@ TR gd . (b) 99 Sl @
Nuclear Energy - Nuclear Energy B IC R Sl - I Sl
(c) Solar Powerand  (d) Nuclear Energy and ©Wrwuf@med - @ @ ol gd
Nuclear Energy Hydel Power» o AT -SoT - RGN

122. Gl q9TC 2023-24F TR, SRS ITERI
' a%f%itfgmaﬁaﬁaﬁmamwﬁ?ﬁﬁwﬁﬁ:{
Wﬁﬁmﬁaﬁm&maﬁ@nﬁwﬁﬁ

-—
122. According to the Union Budget 2023-24, @
~ many skill India international centres are té@-be
set up across different states to skill youthe X

international opportunities? : - faw SIRIAY?
(@) 50 . (b) 20 ’ - (a) 50 (b) 200 ‘
(c) 40 Ad) 30 ' (c) 40 @30 -
123. First National Centre for Marine Biodiversity 123. YR BT YT I Hex BiR AR a‘mﬁmﬂﬁa
(NCMB) of India is situated at - e (@Qﬂ@iﬁ) Rergg — o
_{a) Bhavnagar (b) Mumbar* f:; (@) 9IaTR | (b) §ag ¥
- @ggRdE (@S ETRH

(€) Puducherry-= (d) Jamnagar_ :
h@? 124. fpforad & & S &1 WL GAferd T8l &7

124. Which of the following is not correctly matc

(@) Shah Turkan — Wife of lltutmish . (a) 98 GHT — FogaraT IR all

' 2’ b Hamida Banu Begum — Wife of Allaudin Khilji - (b) gHeT 917 I — TS et B g
(© litutmish — Father of Razia ( ) gegara - o & foar :
(d) Gulbadan Begum — Daughter of Babur =~ d) T[eAgET §TH — 6% B GA
125. n National Parks, Genetic dwersuty is malntaﬁj}'d 125. wﬁl’q SR IICIREIINED ﬁfﬁHﬁT BT GGG
g foam e ® —
A® In-situ conservation (b) Ex-situ conserva@n (a) —ilg, ERETOT ERT (b) ToRi—iie ReTor ET\’I
(©) Gene pool (d) None of the above- (c) S qaT gRT (d) Swfa ﬁ I B T
Who was ‘Khareetadar’? : 126. ‘GRARR’ B AT?
3 Despatcher of royal (b) Main custodian of (a) BRAMT BT Ao (b) SEHES BT gUTH
decrees ' royal palace”® O greT AR " i
© An .offlcgr who was ' (d) Chief Officer of (o) IR @Y () TR BT
trained in keeping Pargana }» Rae—fhae & AHER
accounts r ¢
-1-2 ' ‘ :
[B-1-23] 153101 » Page 25 of 32
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127. Biological Oxygen Demand (BOD) is a standard

C

7 Mission’

[B- 1-23] 153101

ﬂ"

criteria for -
(8) Computing O; level in forest ecosystems 2o

(b) Measuring Oz level in blood 7
(¢) Assaying O level in high altitude regions

__Ad) Pollution assay in aquatic ecosystems

«

128. Given below are two statements, one is labelled

as Assertion (A) and other is Reason (R) .
Assertion (A) — The Tamil Nadu coast remains dry
W during South-West - monsoon
'ﬁ/‘p_ season. ‘
Reason (R) — The Tamil Nawmd
‘parallel to the Bay of Bengal branch
of South-West monsoon and it lies

in the rmqw area_of the
Arabian Sea branch of the South-

West - monsoon _during_monsoon

season. _ iy W
Select the correct answersusing the code given
below — R :
Code - e

\}/Bdth (A) and (R) are tr}ue and (R) is correct

explanation of (A)
(b) (A) is false but (R) is true

(©) Both (A) and (R) is true but (R) is- not correct

explanation of (A)
(d) (A) is true but (R) is false

129. With reference to the joint srttlng of Parllament
which statement/s is/are correct? / ’
(1) Article 109 provides for the joint' S|tt|ng of
both Houses in certain cases.

LWﬁe Speaker presides the joint srttlng of the
two Houses of Parliament. i

Select the cori .L‘EQPMUS|ng the code given

below -

Code - '

(a) Neither1nor2:  (b) Both 1 and 2
\(S¥Only 2 (d) Only 1

130. which of the following Scheme/Programme is

128.

[BYJus

mﬁaﬁ&ﬂﬁﬁ?ﬁﬁ“ﬁmiﬁm |
g oS arel et ¥ ST B St

T%W . .
d)m?ﬂumﬁﬁerﬁwaaﬁwwﬁma%%m
S @ B & R TE BT AT (A) sk

R T BRI (R) FET AT E —

e (A) — SRO—aRER AT A B

@R AfieTg ¢ YD @ §|

| SR (R) — AT T A BN TG F

& TR Rerd & 3R gferor—ufdem

Waﬁqu&mmﬁ
e &1

-ﬁﬁﬁqwaﬁﬁﬂ'ﬁw%ﬁm—

L LBE =

(a) (A)aﬁv(R)aﬁw% 3R (R), (A) & F&
AT BT &

() (A) e R g (R)ERT R

©) (A) 3R (R) QT Wed €, AP (R), (A) I T

(@) (A EE R g (R) T ¥

129.

130.

not the Central Government Programme and itis . -

Uttar Pradesh Government’s Programme?
(a) Pt. Nehru Utkarsh

(c) MGNREGA

WY P WY Yo@ B wad §, Freffad per

EESICOR VAR R 2 -

(HWWW#WH&WM&%
WS d3B BT WA HRAT & | -

(z)a‘m‘rmﬁﬂgwmaﬁa‘mﬁmw
FRAT B |

ﬁmWﬁﬁﬁﬂﬁwgﬁ?—
aia'._

@aarird 2 b)aﬁq‘flagnz
() Baa 2 d) Baet 1

fFfoRaa § & & W srisw Sy @I
Wmﬁgﬁwﬁ%aﬁ?agwmw?ﬁ
T 22

(b) Gramin Swasth a (@) Ufed e Sepy  (b) AR Ry fATE
Mission ‘ QIS =
_Ad) Ganga Expressway (¢) H R (d) T YU

e
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431. Natural resources should be used by the present
neration in such a way that if there is minimum
degradation of natural resources, then what kind

ge

of development would it be called?
VMa) Social Development (b) &sta@ﬁ_e_

veIopmenL
(d) Organic

Development

(c) Economic
Development
ho among the followin'g'women' freedom
fighter was not associated with ‘Quit India

Movement’? - ‘
Y (a) KanaklataBarua - (b) Matangini Hazra
(c) Shanti Ghosh (d) Aruna Asaf Ali -
fofes bt Lo

133. Which of the following Provision is a part of both
- Directive  Principles J_Iiﬂ/‘ |

of. State
- Fundamental Duties?

(a) Participation of workers in management of

industries
(b) Uniform Civil Code ¥
(¢) Guardians to provide
- education to children » -
Protection of environment
wvironment
134. Which of the fol]owmg (Port- Country) is not
correctly matched?
_Ad) Igarka — China
‘(c) Montevideo —
e
Uruguay .

opportunity for

(b) Jakarta - Indonesia

(d) Rotterdam-—.
Netherland

bt
135. The Constitution of India initially permitted the

use of English language for all official purposes

for a period of -
(@) 20 years
(c) 5years

136. Which of the following
Uttar Pradesh?
(1)'Anuthee Uphar Scheme

1~ (2) Matra Shakti Udyamita Scheme
. (3) Kaushalya Matritva Scheme '
(4) Stree Nidhi Scheme
““Select the ‘correct answer usin

(b) 10 years o
Ad) 15 years

scheme/s is/are related to

“below —
Code - o

_4#) 2,3and 4 “"Yb) Both 2and 3
(¢) Only 1 (d) Only 2

and .

g the code given o

A g e e P

m BYJU'S

131. YR WA BT ad O g 5 weR &
WWW%WWWW
&RYT &Y, O TE 59 TR BT R dearm?
(a) wrfores R (b) waa faere
(c) amfefe famra d) I e

192, o 3 & @ AR AT AT e
BT arfeer’ ¥ wafdr T 87

(@) B T 9w (b) AT BT
c) wrifar €Y (d) BRFUIT TG it

133, e ¥ ¥ P e ARy fEe. gl

(@) Seirt & T ¥ BT P AT A
(b) AT ARG WA
(c)srfﬁma?ﬁwzﬁﬁrma}mﬁaw
(d)qufawzmmm
134%%%##%(@%—&%)@@%
T8l 87 ,
(a):cmﬁﬁf A  (b) wpTdl — SEMRET
(cmvé%ﬁ%tﬁ wﬁr(dwéﬂ :ﬂ—cr\rfﬁv@
135Wﬂﬁaﬁﬁwﬁmmﬁ$mwﬁ
Wﬁ@?ﬁ%@aﬁﬁﬁw?ﬁwiﬁm
a-frﬁrqaﬁﬁeﬂ?
(a)zoatf - (b) 1099
i (0) 59 - @ 1sad -

136. ﬁmﬁmﬁﬁ%ﬁﬁ%ﬁm/ﬁwmﬁ
" T 8 /87 |
(1) aﬂ@“f'wm
(2) IR SefaT Ao
(3) PrereAT A AT
"""-(4) w ﬁ'ﬁzﬁa:n' .

€ -
a) 2,3 3k 4

Ta S
.,(C)ﬂ;‘qal ()ﬁT‘ﬁZaﬁ'\r?,

(@) By 5

[B-1:23] 153101
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137.

}1 Chandauli

4

- (©) Sunil Chopra .

139.

WWW.DYJUSEXAITIPIEP. COITI

Chandraprabha Wildiife Sanctuary is situated in
which district of Uttar Pradesh?
(b) Sonbhadra
(©) Lakhimpur Khiri (d) Baharaich

hich Indian origin businessman has been
elected as Mayor of London Borough of
Southwark for the second time? -
(@) Gautam Adaniy (b) Sam Dalton ]

(d) Neeraj Patil

Which one of the following (Place of the revolt of
1857 - Start of rebellion) is not correctly

~ matched? ”_—_——
2 Jhansi-11May,  (b) Barrack - 29 March,
1857 1857 5w
(€) Lucknow —4 June, (d) Meerut 10 May, .
1857 ' 1857 '

- 140.

—1€) Coriolis force

141.

(c) 1975
142.

143.

What caused wind to deflect towards Ieft in
Southern Hemisphere? -
(@) Pressure’

| i
‘ (b) Temperature
(d). Magnetic Field

When did the Water (Prevention and Coritrol of

Pollution) Act was enacted in WhICh of the

following year?
(@ 1977 /fb) 1974

(d). 1976 ‘
With reference to mineral resources, which of
the following statemeht/s is/are .co.rré,ct? ‘
1. Lithium’s inferred resources have been found

in Reasi district of Jammu & Kashmir,~~  °

2. India is import dependent for many minerals
like Lithium, Nickel and Cobalt. "

Select the correct answer using the code: given

below -

Code- v !
(a) Only 1 (b) Neither 1 nor 2
(€) Only 2 ~d) Both 1 and 2

‘Ozone ldyer’ absorbing ultra - violet radiation

exists in which of the atmospheric layer?

\AD) Stratosphere
(d) Troposphere

(@) Thermosphere
() Mesosphere

137.

138.

139.

m BYJ U'S |

mevﬁawmwmzﬁmm
- ¥ fRer &7

(a) TeYe (b) AR
'(c)_m@'ﬁ (d) g8=18d
qRAT T B et AGERA P HSAAD B o
aﬁzﬁr,wwwiﬂwg?
a) e SR (b) ¥ STee
Waﬁ%’r (d) <1 gifes

ﬁwﬁmawaﬁaw(wsﬁﬁmww
—ﬁa’raav‘rw gafera =78l &7

- i"a).m _ 117, 1857 (b) PR — 297,

() ETS — 4L, :

140.
T PRI 8?7

141,

142.

(@) 1977 |
(e) 1975 ¥ )

1857
(d) ve — 10 7S, 1857
1857

mmﬁwmwaﬁ?ﬁ%ﬁaﬁm

(@) ga@ (b)}arqm:r .

¢) PRI e d gadT &5
Wl RIpe e geuer T el @
Freferiea ¥ & ey o amar T

(b) 1974 %

) 1976

‘@ﬁﬁrmzﬁwﬁﬁ ﬁwﬁf@awm‘rﬁ@f

B W/ wd g/

143.

1@—%@?%%@%@#@%2&

- ST |OeT SR fivet &1
2. W I WS gur iR, et aon
‘PlEee & Y Mg wR PRk R
ﬁﬁﬁﬁ@mﬁﬁwgﬁv—
W._
(@) BT 1 (b) 5 @Y 177 & 2
(c) gt 2 (d) T 1 3R 2
W e argHeey Wik A Rerg 27 |
(a) 19 Heo (b) HHATY Hee
(c) ey HEe (d) & Hee

' [B-1-23] 153101
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144. Which of the following is not a sustainable
development goal targeted to be achieved by
20307
(a) Gender Equality
(c) Good health and
well being
145, Which of the following is known as “World
Wetlands Day”?
A A4) 2 February
(c) 1 February

AD) Space Research
(d) Zero Hunger

(b) 15 January
(d) 10 January

orld social Protection Report is published by -

_ International Labour
Organization .
* (d) world Bank

(a) World Economics
Forum |
(c) World Health
Organization
147. Who composed the Golden Globe Award wmnlng
song “Naatu Naatu”?
(a) s.S. Rajamouli' (b) Devi Sri Présad N
(©) AR. Rehman _Ad) M.M. Keeravani. |
148. Among the following, which country has declared
to remove the British Monarchy fromits Central
Bank Currency Notes on ond February, 2023?
(a) Canada (b) Nepal
(c) Sri Lanka ~—td) Australia
149. Which among the following ruler of Kas
abolished Zaziya and Cow Slaughter'f’
(a) Shamsuddin Shah  (B) Haider Shah

(¢) Sikandar Shah /) Zain-ul-Abidin
150. Which-one of the following (Trlbutary River) is

hmir

148. 2 T,

-'150 ﬁwﬁﬁaﬁﬁﬁﬁﬁw(ﬁwﬁ ) e

m BYJU'S

n
A

144. Prefoifad § @ B9 w1 g e o1 veg 78
5, fT9Y 2030 % WT &= 1 ofgw v W e

a) Jiffre FHT (b) SfeiRer ST
Welrg
5. e 3 3 7 1 o o R &
¥ ST @ 87
a) 2 TR (b). 15 STy
(c) 1 Yl (d) 10 S

146. ﬁw'ﬂwﬁiﬁﬂ'\fmﬁqﬁéwﬁmﬁwﬁ%—
ﬁ?ﬂﬂfﬁﬂ?ﬂﬂmb)m‘r@ﬂm
|Tad g
c)ﬁlwwriww (d)ﬁwé‘cﬁm
o ,
147%@3@@?%% e, A B
TR & —

Ww?ﬁmﬁr a‘éﬁ&ﬁm
(c)qamw d)wwﬁ-\rra?ﬁ
2023ﬁﬁﬁﬁvrﬁﬂﬂﬁ®fﬁﬂw€ﬂﬁ
W@iﬁ%aﬁmﬁaﬁeﬁﬁﬁwmﬁ
) BeW B BT BIP '

(a) TS ' (b) Tl
(c) sfefent (d) aifegferar
149ﬁmﬁﬁﬂﬂﬁﬁm<$ﬁrﬁwﬁm
aﬁwﬁwaﬁwﬁmﬁ '
(a ) TRgE e b) X ¥
o) Rimar e (d)?ﬁam“

not correctly matched? iGIRK] a8 &7
(a) Malaprabha— (b) Hemavathi —Kaveri . o i 5 m Ve
?’/ Krishna : | il | ‘ |
(¢) Manjra - Godavari. ) Pranhita = (©) HoxT — M (@) el — Feal -
, . Mahanadi :
LTI




